Complements to 1

Maths Answer Pack - Week 7

Lesson 1 - Teach and Practise- Complements to 1

o Each hundred square represents one whole.

Use the hundred squares to help you complete the additions.

a) 0.3 +

0-7

=1

b) 0.35 + |
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o Complete the calculations.

Shode the hundred squares to help you.
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o Complete the bar models.
a)
1
017 0-%3
b
) 1
0.49 0-5)

c)

0.7 029
1

d)

0-35 0.32 0.33
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o Teddy has these counters.
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He wants to exchange these for os many 1s counters as possible.

How many 1s counters can he collect? | Q

19 Leabhs
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o Complete the additions.

s4+| LL [=100
sd+| & |=10
054 +| O (b |=1
0.054 +| 0-Qub |=01

What is the same and what is different about your answers?

o Complete the sentences.

a) 6tenths +| s

temths = 1 whole

b) 23 hundredths + | 77} | hundredths = 1 whole

e El c) 2 tenths +

0 hundredths + g tenths = 1 whaole
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0.12

0.212

0.012

0222

He hos got them all incorrect.

Whaot mistake has Mo made?

e Mo has completed these calculations.

o Match the pairs of decimals that add together to make 1 whole.

0.988

0.79

0.778

0.788

0.88

a) 022 + 0B8R =1
b) 039 + 0.71 =1
c) 0677 + 0433 =1

He bhan  wed nupker  bonde Bg 10 e‘ﬂat'rh:m
Correct Mo's calculations.
a) 022+ 0 -38 [=1 ) 0677 +| O-323 |=1
B) 039+ 0 &1 [=1
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Lesson 2 - Teach and Practise- Adding decimals, crossing the whole

=

Adding decimals - crossing the whole
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Use the number lines to help you.

. a) 0.74 +0.36=| |- |
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b) 09+045=| |- 16
b) 086 + 068 =| |. 5,
Tenths Hundredths

0| 0000

0000 | 0008
+ 100 0000

) 06+08+015=|]-55
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Use the column methed to weork out the additions. o Teddy runs 0.32 km.

a) e) Amir runs half a kilometre.
Whitney runs 0.47 km.
0142 6crz122 a) How far do they run altogether?
- 0+ 6 9 + 0 8 7 B
| I 918
b) f) |27 [km
b) Jack runs 7 tenths of a kilometre further than Whitney.
0+ 4 1 0 5
How far does Jack run?
+ 0 7 + i 7 7
|11 ] 213
1
9 a) 17 [km
0+9 & o+7 |5 |1 o Ron buys all these items plus a drink costing ninety-five pence.
+ |0 +9 | 7 +« |0+ 3 How much does Ron spend in total?
119 |3 | 10 711
| ' i
d) h)
0+ 3 0 6 [0 4
isps
- 0+ 8 o 4 + 0 5 1 9 r 5 Crisp
Ron spends £| . .4 in total. 2
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Starter - Quick 10

Lesson 3 - Challenge/Apply

Question Answer Question Answer
EXAMPLE: 2 X4 = |8 6.
1. 67 +23= 90 8 cubed = 64
2. 9 squared = 81 7. 79x10 = 790
3. 7x8= 56 8. 20x6 = 120
4, 13x4-= 52 9. 8921- 3820 = 5101
5. 2345 x 100 = 234500 10. 77239 +2390= | 79,629
Challenge | | Star =10, heart = 17, triangle = 0
Challenge 2 | A pencil costs 8p
Challenge 3 gsrglr's number is 538, Donna’s number is
Challenge 4 | Perimeter = 64 cm
Challenge 5 | The length is 480 cm
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Extension Task




